Total Number of Pages :- 10

District Level Internal Examination Committee, Bongaigaon

Half Yearly Examination-2023
Class - X
Sub: General Mathematics

Time : 3 Hours Full Marks : 100
The figure in the margin indicate full marks for the questions.

Section - A (F114i)

1. Choose the corréct answer :

PRI PACTGICEE ,

(i) Which of the followmg will have 1 (one) in the unit
place? 1
OETq (IO G5 31"1_ © 1 A2
Q)92 (b) 347
()R 182 @207 |

(i) Which of the following sets of numbers are in
proportions? 1
O (PRI A @6 FAAFATS A2
(@ 4,6,8,12 (b) 2,6,6,8

(111)

(iv)

(c) 6,4,20,30 (c) 10,40,30,50
The decimal expression of the rational number

%{is? ' I
2352 L 2R IR i [l 242
(a) 0.35 ' (b) 0.035
" (¢) 0.0035 (c) 0.007
Which of the following is a polynomial? 1
GeTd (P11 207 ?
1
®) Vx5 ®) Taxe3
5
(¢) x*Tx+5 (c)



-

(2)

(V)  Products of the zeroes of the quadratic polynomial
3x2+11x-2 is 1 |
3x%+11x—2 RIS TZANCHR *FCAIR AF0e Lef—

2 2

(@ 3 () =75
2

] 11

© % © -5

(vi) The lines represented by the equations 5x—4y-+8=0 and
Tx+6y—9=0 are 1

Sx—4y+8=0 W% Tx+6y—9=0 A%< HOI2 C&ldl (&l
T i

(a) Parallel (b) Coincident lines
RIS fifer @

(¢) Intersecting lines (c) None of the a, b, ¢
FOIF0 FF a, b, c Gbie 37

(vii) The number of roots of the equation (x+2)* =x>—4 is- 1
(x+2)} = x4 TNFIEIR To19 AL 2o

(a) 4 ®b) 3
() 2 d) 1
(viii) All squareare . 1
AT 3N e |
(a) Congruent (b) Similar
o7 g |
(c) Equal (d) Noneofthea, b, c |
e a, b, c ble 737 |
(ix) The distance between the points (a,b) and (—a, -b) is |
(a,b) i1 (~a, ~b) 157 T5M e 73 - 1

(a) 2a? +b? (b) 41/a2+b2

© 0 (d) 2 (a+b)



3)

(x) The value of 8cosec?A — 8cot?A is 1
8cosec?A — 8cot’A T T ¥'I-
(@ O (b) 1
() 8 (d) 16

Choose the correct answer of the following :

OeTs W7 Bes0h! iR S

(1) The value of 2.03x107° is- 1
2.03x107° 9 SUCH! T'3-
(@) 0.203 (b) 0.0000203
(c) 203000 (d) 0.00203

(i) 327 is (3.27901) 1
(a) aninteger (b) arational number

e FRA! ARG 122471
(c) anatural number (d) an irrational number
Feif AL SRR A1

(iii) The zeroes of the quadratic polynomial x>-2x—8 are
x2—2x—8 faqI® I22ION *FIIN T1- 1
(a) 2,4 (b)) 2,4
c) 2,4 d 2,4

(iv) The equations 2x+3y-9=0 and 4x+6y—18=0 have- 1

(V)

2x+3y—9=0 B 4x+6y—18=0 IR AT~

(a) No solution (CFICT AL i2)

(b) Two solutions (95! ST SNCR)

(c) Unique solutions (SRS ML SNTR)

(d) Infinitely many solutions (SIS < Y SIZ)

A pair of linear equations in two variables, which has
a solution, is called a pair of linear equations.

751 BeTpd (afI FTNe] TS A 9B AN g i
................. IS4 (A STTIEe (@I | 1



(vi)

(vii)

(ix)

(4)

(a) inconsistent (b) Consistent

SRS ESS
(c) dependent (d) parallel

2199Y AT
Under what condition there will be no real roots of
the quadratic equation ax?+bx+c=0. 1
ax>+bx-+c=0 AT® TN (A BT T AU 56
Q- '

(a) b>—4ac=0 (b) b*—4ac>0
(c) b*—4ac<0 (d b*4ac>0
One root of a quadratic equation is 2 and sum of the
two roots is 0, the equation is - 1

5! gt AT 961 6T 2 SN Y& 7o (@aiwe 0,
PO R

() x2+4=0 (b) x—4=0
(c) 4x>-1=0 (d) x>-2=0
-UABT ACH ! N

(viii) If in AABC and ADEF, = thien will'bé sirhilar

if - 1

AB AC

7 AABC I ADEF'® ——_—=_— (oCS farge 761 577

z’q @fed -

(@) <ZA=4£D (b) ZA=ZE

(c) 4B=<E (c) ZLA=F

The co-ordinate of the mid-point of the point (-1, 7)

and (9 -3) is. 1

(1, 7) @016 (9 —3) g FCAM (-1 DT Ty FIce
2'q- |

(@) (2,4) (b) (3,5)

(c) (4,2) d) 2,4



)

(x) The value of sec(90°-0) is 1
sec(90°-0) I Wi=-
(@) SecB (b) CosesO
(c) Coso (d) tan®

Answer the following as directed:

R SFpIE Ol fral-

(1) Find the square root of 12.25 1
12.25 3 35f57& efa <41 |

(i) Find the HCF of 17, 23 and 29. 1

17,23 90 29 9 51T el w4 |

(iii) If o and P are the zeroes of the polynomial x>—4x+1,

then find o + f3. 1

@iv)

W)

(vi)

(vii)

T x2—4x+1 IV G0 o F B 2 (B o+ B I

3 e |

Find the solution of the equations x+y=14 and
x—y=4. 1
x+y=14 BIF x—y=4 AAFCICAS AL [He7 41 |

Under what condition will ax?+bx+c=0 be a quadratic
equation? 1

3 5% AMAATF ax>+bx+c=0 @bl [aq® FATHa4 292
What is called similar figures? 1
37+ fod I QM= 2

Fill in the blank (4feT! 31% 73 1)

All  triangles are similar. 1

AT | faea s |

(viii) Find the distance of the point (3, —4) from the origin. |

(1x)

eAfaqa 7l (3, —4) RvcorR &y e w4t
If tanA=CotB then find the value of A+B. |



(%)

(6)

I tanA=CotB (90T A+B I Wi [ef a1 |

Evaluate : Cos48° — Sin429. 1
T ©feedt § Cos48° — Sind2°

Answer in short :

53 Ueg Al

(1) Factorise : a’—a%b? 1
B [RTsFe 91 ¢ a® — a?b?

(i) "WVrite true or false : 1
o) T SPTS) il 8

(iii)

(iv)

v)

(vi)

(vii)

0.10110111011110....... is a rational number.
0.10110111011110....... bt ARG |

Find the zeroes of the polynomial x?—x. 1
X>—x TZAMCHIN AR Refm 11 |

cfor what value of p, will be following pair of linear
equations have infinitely many solutions? 1

2x+3y—5=0 ; dx+py—-10=0

p & T IR TF (RS FANFREAIIRT S

FRAP A AN |

2x+3v—5=0 ; 4x+py-10=0

Which of the following is not a linear equation? 1

OeTq (FICBT (IR SN 72 2

(@) x>-5x+6=0 (b) x+y=8

Write the quadratic formula. 1
fao o1 forall |

AABC~ARQP. If AB=3.8 cm, BC=6 cm, CA=3./3
cm, QP = 12 cm then find RP. |

AABC~ARQP 3ft AB=3.8 (5, BC=6 5f¥, CA=3 /3
(5151 @I QP = 12 (53 (ot® RP efy vt |




()

(viii) In AABC, £A=70° and ,/C=50°. If AABC~APQR
then find the measure of ZQ. 1
AABC S ZA=70° @i ~£C=50° ¥t AABC~APQR
oS £Q I i Refm =1

(ix) Find the ratio in which the x—axis divides the line
segment joining the points A(1,-5) and B(-4, )l
A(1, —5) s B(—4, 5) g 701 Kol a1 (SIS x
o R weie® o wiRez e =4

(x) Iftan® = /3 thensin® =2 1

% tan® = /3 (T sinb = ?

Fill in the blanks choosing the correct option from the
alternatives given the brackets.

T FoeTs Tl RTaEINE o[l wa SeIt! AR AT 9 7

S

(i) IfHCF and LCM of the two numbers A and B are H
and L respectively, then the value of B will be
(HL/HL/

/HL) 1
nﬁi‘mﬂmAWme@ O .92, T H =i
L 28 (O3 B T3 T wcrerneenesennes |

HL HL AL
(Y. / HL)
¥ Sin60° .
(ii) The value of T S EHBLION AR
Sin60°
) 0 1 (P—— 2/1/0/
Cos30° £ : ( V3)
(iii) The number of zeroes the polynomial 3x*+2x*+x—1 is
L (1/2/3./4) 1

342524 x—1 A2 RO HeT RN R owrvvens |
(1/2/3/4)




10.

ol

(@)

1
(iv) The value of 37 is (@82 /%/3X3) 1
1
S R\ QTG ot | (3°/33 /-;—3/3x3)
(v) Thediscriminant of the equation x*+6x+5=0 is .
(4/2/-16/16) 1
x24+6x+5=0 F (% [HFo1F T .o | (4/2/-16/16)

Section - B (4={<Y)

5 persons can finish a piece of work in 20 days. How many
persons can finish the work in 1 day. 2

5 & W2 9ot I 20 e FR:J 21w | [ooiw & i@ GiR
et 1 e SR«

The volume of a cube shaped box is 6859 cm’. Find its
height. 2

G5! I SO A6 ST 6859 = (BN, e IIFoCs! fF=ie
8 T |

Find the HCF of two numbers 616 and 32 using Euclid’s
division algorithm. 2

3THTT IR II2T P 616 S 32 724 701 23718 [ef7
341

Find a qudratic polynomial, the sum and products of whose

Zeroes ar *% and 7}: respectively. 2
<51 are qem Refa T AT ) YOI AND S e T
ol Sl

4 5 | |
Solve : x—y=3 ; %4“%:6 )

Prove that ,/5 is irrational. 3



12.

14.

15:

16.

17.

18.

©)

oI T T L[5 FARCH |

Find the roots of the following equation. 3

V2 x37x4+52 =0
TS FHISIIOIE TACHR0! 1% T |

V2 x+7x+52=0
Sum of the areas of two squares is 468m°. If the difference of
their perimeters is 24m. Find the sides of the two squares. 3

751 I51< TR (QIoe 468 351 o1R, I Figes ARA =R 21
24 T51R, 35f 7011 IR sl [T 0
A line intersects the sides AB and AC of a triangle ABC at D

and E respectively and parallel to BC, prove that i—ﬁ:%. 3
el @R ABC f9g@s AB Wi AC I @3 D 9% E

R FI6 oS (FUIClE BC I IR A9 391 (@ 50 = AE

AB -~ AC
Find a relation between x and y such that the point (X, y) is
equidistance from the point (3, 6) and (=3 4). 3

x % y T TR 61 7R Refa 391 IR (x, y) Reot (3, 6)
T (-3, 4) % 1O1R #1¥1 A3 |

Find the area of a tringle formed by the points A(S, 2), B(4,
7) and C (7, —4). 3
A(5, 2), B4, 7) SIF C(7, 4) R TN iPs fagaiiR
ZIfe [Afa &1 |

If Sec4A = Cosec (A-20°), where 4A is an acute angle. Fin

-

the value of A. 3
afi Sec4A = Cosec (A-20°) TG 4A TTH (T4 (908 A I TN
fAefa 741 |

If SinA=2 , Calculate CosA, tanA and SecA.

LS ]

#fd SinAs 2 (0% CosA, tanA SI% SecA ©fepaq |




19

20.

212

22;

(10)

Or/123t
. CosA | 1+SinA
Prove that : 1+SinA™ Cosa =2SecA 3

o _CosA | 14SinA
oA T (@ 3 SRALLSIA_ogep

If AD and PM are medians of tringles ABC and PQR,

respectively where AABC ~ APQR. Prove that % = %% 3

ABC 9IS PQR fqe@ w51 S0 @3 AD @i PM 1 3% AABC
~ APQR (0% ol 351 ¢y AB _ AD |

PQ - PM
Find all the zeroes of the polynomial 2x*—3x*~3x2+6x—2. If
two of its zeroes are /2 and —+/2 . 4

2x*-3x*-3x*+6x~2 AN SBIRCIAIT ¥y Sfevea, 3ft 7o1
7 /2 1 -2 =

The area of a rectangle gets reduced by 9 square units, if its
length is reduced by 5 units and breadth is increased by 3
units. If we increase the length by 3 units and the breadth by

2 units, the area increased by 67 square units. Find the length
and breadth of the rectangle. 4

D1 SIS AW (TLE 5 G BT O A% 3 G35 33 991 W
(ST 2 el 935 953 21T 27 | I 31 = 3 9

AT 2 G a9 T (9T e 67 376 % =41 | SIFOTo
719 SIS 97 Sfead | |

Internal Assesment. 10

SR STz

XXX



